
Wheel Lock Non-Recliner with Permanent Arm



Wheel Lock Non-Recliner with Permanent Arm
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
7930367-NLA NLA - Locknut (1/4-28) 25 21

1010398 Washer, Nylon (1/4 x 1/2 x 1/16") 1 42
7930357-NLA NLA - Washer, Nylon (1/4 x 1/2 x 1/32") 25 63

60274X012-NLA NLA - Screw, Hex Head (1/4-28 x 3/4") 1 24
47559X032-NLA NLA - Shoe 1 15
47559X025-NLA NLA - Link, Chrome - Right 1 16
47559X026-NLA NLA - Link, Chrome - Left 1 16
47559X028-NLA NLA - Handle, Wheel Lock, Chrome - Right 1 17
47559X029-NLA NLA - Handle, Wheel Lock, Chrome - Left 1 17

47376X024 Tip, Rubber Wheel Lock Handle, Black 1 18
60133X006-NLA NLA - Rivet (9/16") 1 28
47559X024-NLA NLA - Link, Flat, Chrome 1 19
04512X087-NLA NLA - Bracket, Mounting - Right 1 110
04512X088-NLA NLA - Bracket, Mounting, Chrome - Left 1 110

1107321 Nut, Low Cap (5/16"-24) 1 111
11232X009 Bolt, Lug  (5/16-24 x 1-3/8") 1 112

04512X154-NLA NLA - Wheel Lock, Push to Lock - Right 1 113 A
04512X155-NLA NLA - Wheel Lock, Push to Lock - Left 1 113 A

A - Push to Lock; Includes items 1-10 NOTE:
 


